[image: image1.jpg]2 e
G201 0m

International Informatics

Olympiad

COMPUTER S

SAEGTRSIESS

e

ot 4222
COMPUTER
UTERACY FOUNDATION

NCE

CLASS Code - 004

0 10 i woer [

TEST PRPER TYPE

Studunt’s Namo [

IR

[ETTTa}

DURATION : 60 MinuTES

6. The question paper contains 4 pags.

ToraL QuesTions : 40

£ Wt your 12 digit 010 Rall Nutmber and.yous name on top of the question tuper in the g spce

2 Raling up improper Roll Nutnber iy foud 0 unovailaility of Resul,

41 e queston papet cunsist of 2 Sections. Sction () hes 35 questions and Sectian (1) has 5 cetons. Foch
Question caries equal marking of 2.5 marks cach.

5. e your answersiA. b, GD or ). in the given bos [ in the question paper wilh Reifirci,

7. bo mot start attempting the tost popor until you are oskod o do 5o

MAXIMUM MARKS 1100

—— CRII——

Computer works with the help of many
devices. Which device is a hardware that
provides data to the computer?

(4) Pracessing device

(8) Input device

(€) Output device

(D) Peripheral device

3. A set of grammatical rules for instructing a
computer to perform specific tasks is called

4] Programying language
(8) processing language
(C) Human longuage

(D) Both (4) and (5)

(€] None of these

Answer[]

(€) Noneof these. Answer[ ]
2. Which statement is NOT correct about Paint
Brush?

(A) Paint brush is used to make designs.

{8) 80P i the aefout xtension or paint
orun e,

(€) Paint brush is NOT a standard part of
Windows operoting Sysem

(0) it el ndkoes ha paint rush
i hes ot e soved

6) None of these Aoswer ]

REFiD10/CI0

4. MODEM s used to modulate a digital signal to
an analog signal. Which device is necded to
demodulate the signal?

(4) Network Card
(8) Microphone
() MoDEM

(0] Monitor

(€) None of these

answr ]
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Read the given statements and select the

correct statements.

(A) A microcomputer is a computer that can

"> perform all of its input, process, output and
storage activities by itself.

(8) A minicomputer is often used in situations
where a microcomputer is not powerful
enough and & mainframe computer is too
expensive.

(€) A_mainfrome computer is a lurge,
expensive and powerful computer that
can hondle hundreds or thousands of
connected users at the same time.

(D) Al of these
(EF Only {Bjand (C) Answer[ |

&

In VS Word, To select a Sentence, click
anywhere at the Sentence by holding
(A) Ctrl key (8) Shift Key
(€) Home Key (D) End Key.

(€) None of these Answer[ ]

7.

Fill in the blanks:

1. Secondary memory devices are
devices and stores data for the

2. Secondary memory 'is not directly
accessible by the 7

3. Secondary memory is the
cheapest form of memory.

(A) Internal, Present, Modem, Fastest

(8) External, Future, CPU, Slowest

(C) External, Present, Modem, medium

(D) Internal, Future, CPU, Stowest

(E) External, Present, Hord disk, Slowest

Answer[ |

and

LOGO is a computer programming anguage.
Today it is mainly known for its

(A) Parentheses

(8) Turtle graphics

(€) Recursion

(D) All of these

(€) None of these

- Answer[]

The display device in modern monitors is
typically a TFT-LCD based. What is the full form
of LCD?

(4] Large crystal disploy

(8) Light circuit display

(€) Liquid crystal display

(D) Liguid circuit display

(E) None of these

Answer[ ]

10. Which one of the following set of primitives
will result in a circle?
(A) ? REPEAT 360[FD 1 RT2]
(8) ? REPEAT 6{FD 20.RT 90]
(C) 7 REPEAT 4{FD 40 RT 90]
(D) ? REPEAT 360[FD 1RT 1]

(£) None of these Amw-vD
11, An ellipsis (...) following a command in a
‘Menu Bar" (exp. Open...) signifies:
1) Use'this command with caution
(8] A dialog box appears when you choose the
>mmand
{C) You can not use the command with your
application at the current time
(D) When you choose this command, o

cascading menu appears
Answer [ ]

(€] None of these
12. Which memory constitutes a device or group

of devices that holds instructions and data for

rapid and direct access by the computer’s

cpu?

(A) Primary memory

(8) Secondary memory

(¢) Auxiliary memory

(D) Only (8) and (C)

(€) None of these

Answer[ ]

In Word processing document you can

accomplish all the given tasks except one.

Identify that.

(4) Developing a table of historical events

(8) Typing a letter to a friend

(C) Calculating the expenditures for the
shopping

(D) Writing an autobiography

() None of these

&

Answer[ ]

14. Which type of network do you use to send an
e-mail to your friend in London?
(A) LAN (8) MAN
(€) vaN (D) WAN.

(£) None of these Answer[ ]

15. The given device is used for controlling the
onscreen action. Identify the device.
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(A) Game pad
(€) Joy pad
(€) None of these

(8) Goming keypad
(0) Triggered pad

Answer[ ]

has “Quick Launch” icons which allows
one-click access to frequently used programs.
(A) Taskbar (8) Standord bar.

(€) Status bar (D) Title bar

{£) None of these Answer[ ]

Which one of the following is/are correct

statements about Paint Brush?

1. Eyedropper is used to ‘pick up’ the colour
that you have already used in an image.

2..To use the Text tool, simply select it from
the colour bar and then drag o rectangle
within your image.

3. The Icon for the Fill Tool resembles.a
pouring cane of paint.

16.

17.

(A) 1and2 (8) 1and3
(€) 2and 3 (D) Only 1 .
() Only 3 Answer[ ]

18. A microphone can be used only if the

{A)Thie hord disk has énormous storage copacity
compared to niain memory

The hord disk s sually contained in the sistems
unit of @ computer

)

(€ The hard disk is used for long-term storage of
programs and dota

{0) Allof these

(€} None of these Answee[ 7]

To avoid unwanted access to your computer

while viewing Internet you  should
use,
). Tock (8) Firewall
(€) Possword (9) Antivius software
{€) None of these Answer[ ]
23. Match the following:
1. Zip disk ji 4768101768
2. USBflash drive i, Upto268.
5. Hord disk iil. 8068
v, 100 M8 t0 750 M8
(8) 1,iv: 2,0 3l 4,1

(D) 1,7:2,ii: 3, 4, v

] ]

sompatérimsts v 24. In windows operating system, pressing
e e 2™ 32| " windows key and then siphabet Rt
1A AV Cord (8) Video () Activates shutdown option
() Sound (0) Voice oot
Jpens Internet Explorer
{E) None of these Amw«D (D) Closes currently open document
h nswer|
19. In M Word you can format text in bold, italics | (7 "re/thesr A ]
:::r;‘"‘:':z:?fﬂ""- To do these what are the |25, To draw a free- forin fine Ih Paint Brush, which
< f the follg t ?
(4) Ctrl + A, Alt+ 8, Cerl + B OIS o S Sl 9ok dov chn e
(8) Ctrl +8, Ctrl+1, Ctrl+.U w 7 (RN
(C) Alt +B, Alt +1, Alt + U
(D) Ctrl +.0, Alt +1, Ctrl + L @\ 10); Allof these
(E) None of these Answer[ ] 1€]  None of these me
20. Which one of the following computers is the | 26. Which one of the following shortcut Keys is
fastest, most powerful and most expensive | used toreplace the incorrect word with correct
computer used for applications that require | Word in MS Word?
complex and sophisticated mathematical | (4] Cui+A (&) cul+F
calculations. (€) Cri+G (D) Cud +H
(A) Mainframe computer (€) None of these: Answer[ ]
(8) Supercomputer
() Laptop 27. Which of following is a correct descending

(D) Note-book computer
(E) None of these

Answer[ ]

21.Given below are the statements about hard
disk. Select the correct statements.

order according to their storage capacity?
(A) Pen Drive >DVD > HOD

(8) HOD>CD > Pen Drive

(€) HOD>DVD>CD

(D) DVD>HOD>CD

(€] None of these

o 1
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which one of the following generations?
(A) First generation () Second generation
() Third generation (D) Fourth generation

(€) Fifth generation answer[ ]

29. The type application software is
tailor-made software according to a user’s
requirement.

{A) Package (8) utility

{€) Customized software (D) Longuage processor
() None of these Answer[]

. When you execute the following commands:
€S >FD 100>RT 90>FD 100>RT 50>FD 100>RT
90>FD 100> RT 90
Which one of the following figure shows the
correct output?

. The programs written in assembly language

can be translated into machine language by
using
(&) Compiler
(8) Assembler
(€) Interpreter
(D) Assembler ond interpreter both

{€) None of these

Answer[]

. InLOGO, to calculate the sum of two numbers,

20 and 65, which one of the following
commands is used?

(4) Sum 2065 (8) 20465
(c) 5um20,65 (0) 5um(20,65)
(€) None of these Answer|

: e L 36. Complete the following sequence.
[ ZAYBXCWDVE?
® | | (W uo (8) vC
o © TR (0) UF
(€) None of these. Answer[ |
| | - 2
"4 Ll | 3. o Tpauns van
replace the question mark in the given series?
(£) Noneof these. Answer[ ] Gen:0CCEgE?
F (4) Gff (8) GFf
31. Fill in the blanks: (© oFF (0) Al of these
1. Theunitof memoryis called. g
2. The internal memory is classified into (e amswer[ ]
and.
3. Bar code reader is an example of. device. | 3% c"s'“"';‘ e e
(A) Bits, DRAM, SRAM, Output :);'2722"'_ ey
{8) Byte, CD, COROM, Processor. )
(C) Byte, RAM, ROM, Input (] )71
(D) MB, SRAM, RAM, Outout (€} None of these Answer[ ]

(€) GB,0VD, CD, Input. Answer[ |
In Ms-Word, menu provides spell
check, word count, mail merge facilities, helps
in creation of labels.

(4) Tools

(8) Table

(€) Window

(8) Format

(€) None of these

32

)

33. Songs in a Audio Cassette s stored in :
(4) Rondom Access Mode
(8) Sequentiol Access Mode
(€] Direct Access Mode
(D) Both (8)and (D)

(€) None of these

somver[ ]

Ifthe cost of a pen is $7.25, Pencil $5.75, Eraser
$1.5 then what would be the total cost of all
these items?
(&) 145 dollor
(C) 13.5 dollar

(€) None of these

(8) 125 dollor
(D) 15.5 dollar

noswer[]

. A number is thrice more than 5 times of 6.
Find the number.
(4 33 (8) 30
( 9% () 35

(£) Noneof these

-
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